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GEOGRAPHY
[ Honours ]
PAPER — VI
Full Marks : 90
' Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary

GROUP - A

Answer any two questions (within 800 words) : 15 x 2

1. Give a brief account of Humboldt's contribution
in the development of modern Geography. Briefly
mention the contributions of Arab Geographers
in the Middle Age. 10+5
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Write a brief account of salient features and
limitations of behavioural geography. Write a
short note on social Darwinism. 10+ 5

How is the distribution of Indian natural
vegetation guided by soil characteristics ? Find
out the causes of biodiversity degradation in
Indian Sundarbans. 10+5

Give an account of the growth and development
of tourism industry in India and discuss its

impacts on the regional economy. - 10+ 5
GROUP —-B
~ Answer five questions selecting one from
each Unit (within 500 words) :. 8x5
‘Unit — 1

Discuss the consequences of the age of discoveries
and inventions on the geographical knowledge. 8

Or

Make a comparison between aerial differention
and spatial interaction. 8
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UNiT =11

6. How are the man-nature interactions explained
differently in different schools of geographical
thought ? ’ 8

Or

Differentiate the concept of 'Space’ from
'location’ and state the relevance of space in

geographical study. 8
Unir - I |
7. Discuss the seasonality and upredictable natures-
of Indian monsoonal rainfall. 8
Or

How does the underlying structure control
the development of peninsular rivers in India? 8

UniT - IV

8. Ciritically discuss the trend of urbanization in
post-independent India. 8
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Or

Find out the environmental and ecological
consequences of Green Revolutionin India. 8

UnNiT -V
Discuss the Economic importance of Deccan
Trap region. 8
Or

Differentiate the physiographic diversity of

Eastern and Western coastal region of India. 8
GROUP -C
Answer five questions selecting one from
each Unit (within 150 words) : 4x5
UnNiT =

Who was Ptolemy ? What are his major
contributions in the field of geography ? 4
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Or .

What are the negative impacts of quantitative
revolution on 3rd world countries ? 4

Unit = 11
11. Differentiate positivism from logical positivism. 4
Or

Discuss the background of the development

of ecological approach. _ 4
UniT — IiI
12. Find out the ecological consequences of
deforestation. ‘ 4
Or

Distinguish' between bhangar and khadar
alluvial soils. _ 4
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UniT =1V

Briefly mention the distributional pattern of
engineering Industry in India. 4

Or

What are the characteristics of agricultural
policy in India ? 4

UNiIT—-V

Briefly discuss the influence of global warming
on Sundarban delta region. 4

Or

Why deccan trap is considered as an edaphic
region ? 4
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